HCF, LLCM and Products of Prime Factors

1.  Polly Parrot squawks every .12 seconds.

Mr Toad croaks every 21 seconds. M Z. C /’\/\

They both make a noise at the same time.

After how many seconds will they next make a noise at the same time?
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2. (a) Express 36 as a product of its prime factors.

36 W= 2x2x3=xD
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(b) Find the Highest Common Eaetor (HCF) of 36 and 60.
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3, 36 expressed as a product of its prime factors is 2% x 32

Express 45 as a product of its prime factors.
Write your answer in index form.
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(¢) Whatis the Least .‘ommon Multiple (LCM) of 36 and 457
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4. (a) Express 144 as the product of its prime factors.
Write your answer in index form.
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(b) Find the Highest Common Factor (HCF) of 60 and 144,
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5. (a) Express 108 as a product of its prime factors.
Give your answer in index form.
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/MW Find the Highest Common Factor (HCF) of 108 and 72.
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6. (a) Express 60 as a product of its prime factors,
Give your answer in index form.

éo 60 - 2 X 2x3%xS
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(b) Find the Highest Common Factor (HCF) of 120 and 32.
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@" 7When written as the product of prime factors 225=3% x5

(a) Write 150 as the product of prime factors.
Give your answer in index form.
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(b) Work out the highest common factor (HCF) of 225 and 150.

150 = 2 =35 575
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8.  Find the Highest Common Factor (HCF) of 24, 60 and 108..

£O YR et :/Z/XZM/XZ
S A i
g8 @ T8 6 S loY > Z%Z%F5nB
& /\ )\




	HCF, LCM, Prime Factors - Solutions
	Pages from copier%40ashfield.notts.sch.uk_20111019_133042 (1)



